KANGOUROU MATHEMATICS COMPETITION 2021: LEVEL 5-6 / ENINEAO 5-6 (E’-XT" AHMOTIKOY)

1. Which of the following constructions can be made with these 6 bricks?
Moo oo TIG MAPOKATW KATACKEUEC UIMOPEL va yivel e autd ta 6 ToUBAa;
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2. In how many places in the picture are two children holding each other with their left hands?
Y& nooeg Béoelg oty €lkova S0 maLdLA KPATOUV TO £Vl TO AAAO LLE TO OPLOTEPO TOUG XEPL;

3. In the square you can see the digits from 1 to 9.
210 TeTpdywvo pnopeite va Seite ta Pnoia and to 1 éwgto 9.

A number is created by starting at the star, following the line and writing down the digits along the line
while passing.

‘Evag aplBpog dnpoupyeltat EEKLVWVTOC Ao TO A0TEPL, AKOAOUBWVTOC TN VPO Kal ypadovtag Ta
Pnolo anod onou mepva n ypopun.

For example the line shown represents the number 42685.
Ma mopadelypa, n ypapun nou epdaviletal avilmpoowneVel Tov aplbpd 42685.

Which of the following lines represents the greatest number?
Moo oo TIG MAPAKATW YPUUUEG OVTLITPOCWIEVEL TOV HEYOAUTEPO aPLOUO;
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4. Sofie wants to write the word KENGU by using letters from the boxes. She can only take one letter
from each box.

H 20¢dn BéAeL va ypadel tn AéEn KENGU xpnotomolwvtag ypappoato ord ta koutld. Mmopel va mdpet
HOVO €va ypappo and kaOe kouti.
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box 1 box 2 box 3 box 4 box 5

What letter must Sofie take from box 4?
TLypApUO TIPETEL VO TIAPEL N 2OdN armo To KouTi 4 (box 4);

(A) K (B) E (C)N (D)G (E)U

5. When you put the five puzzle pieces correctly together they form a rectangle with a calculation.
What is the result of this calculation?

Otav TonoBTAOETE CWOTA TA MEVTE KOUUATLA TOU TtalA oxnpatilouv €va opBoywvio pe Evav
uTtoAoyLopo. MNoto ival To AmoTEAECUA AUTOU TOU UTIOAOYLOMOU;

Dl 20 1ce+

(A) 22 (B) 32 (C) 41 (D) 122 (E) 203

6. A measuring tape is wound around a cylinder. What is the number at the question mark?
Mua tawia pétpnong Tuliyetal yupw amod gvav KUAWSpo. Molog eival o aplBpog oto onueio Pe To
oupBolo ?;
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(A) 53 (B) 60 (C) 69 (D) 77 (E) 81
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7. The 5 figures on the grid can only move in the directions indicated by the black arrows.

Which figure can leave through gate G?

Ta 5 oxuoto oto mAEypa prmopouv va KivnBoUlv pudvo mpog Tic KateuBUVOELS TTOU UTIOSELKVUOVTAL Ao
o povpa BEAN. Moo oxnua propei va duyeL omd tnv mUAn G;
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(A) A (B) B (C) C (D) D (E) E

8. Carin is going to paint the walls in her room green. The green paint is too dark so she mixes it with
white paint. She tries different mixtures. Which of the following mixtures will have the darkest colour
green?

H Kaptv Ba Bael Toug Toixoug 0To SWUATLO TNG UE TPACLVO XpWHA. To TPACLVO XpwHa elvat TTOAU
OKOTELVO KOL TO OVAMLYVUEL UE AEUKO XpWa. AoKIUAZEL SladopeTIKA piypata. Moo amno ta mopakATw
pelypata Ba €XEL TO TILO OKOUPO TPAGCLVO XPWHLA,

(A) 1 part green + 3 parts white (B) 2 parts green + 6 parts white  (C) 3 parts green + 9 parts white
(D) 4 part green + 12 parts white (E) They will all be equally dark

(A) 1 860n mpaowvo + 3 §60elc AeukO (B) 2 860¢eLg mpacivo + 6 860eLg Aeukd
(C) 3 b0l mpdowvo + 9 86oelg Asuko (D) 4 660¢e1c Mpaowvo + 12 660eLg Aeuko
(E) O\a Ba ival €€ ioou okoUpa

9. Mary had a piece of paper. She folded it in half, with the two pieces exactly matching. Then she
folded it again in half. She got the shape below:

H Mapla eixe éva koppatt xapti. To SitmAwoe otn péon, e to SU0 KoppdTia va tatplalouv akplpwe. ITn
ouVEXELD TO SimAwoe MAAL otn péan. MNAPe To MOPAKATW oYX

Which of the shapes P, Q, R could be the original piece of paper?
Moto amo ta oxnuata P, Q, R Ba pnmopouoe va gival To apXLlko KOUUATL XaPTi;

-

P Q R

(A)P (B)Q (C)R (D) Por/hQ (E) all/6Aa P, Q, R
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10. There is a square with line segments drawn inside it. The line segments are drawn either from the
vertices or the midpoints of other line segments. We coloured 1/8 of the large square. Which figure is
our colouring?

YTdpxel €éva TETpAywvo pe euBlypappa Tunpota oxedlaopévo evtog tou. Ta eublypappa THApaTa
oxeblalovral site amno tI¢ KopudEg elte amod ta HEoa onpeia AMwY eVBUVYPAUUWY TUNUATWV.
Xpwpoartioape to 1/8 tou peydhou TeTpaywvou. Moo oxfiua XpWHOTIoALE;

N | k

(A) (B) (€) (D) (E)

11. The number 5021972970 is written on a sheet of paper. Julian cuts the sheet twice so he gets three
numbers. What is the smallest sum he can get by adding these three numbers?

O aplBudg 5021972970 sivat ypappévog os €va pUANo xaptiol. O T{oUALav KOBeL to pUANO U0 HopEG
€T0L TtalpveL TpeLG aplBuoug. Nolo sival to pKpoTePo abpolopa ou Pnopel va mapel mpooBOEtovtag
auToUG TOUC TPELG apLBuoUG;

(A) 3244 (B) 3444 (C) 5172 (D) 5217 (E) 5444

12. The map shows three bus stations at points A, B and C. A tour from station A to the Zoo and Port
and back to A is 10 km long. A tour from station B to the Park and Zoo and back to B is 12 km long. A
tour from station C to the Port and Park and back to Cis 13 km long. Also A tour from the Zoo to the
Park and Port and back to the Zoo is 15 km long. How long is the shortest tour from A to B and C and
back to A?

O xaptnc Seiyvel Tpelc otabpouc Aewdopeiwv ota onueia A, B kat C. Mia petadopd amnd to otabud A
oto {woAoYyIKO KATO (Z00) Kal to Aywavi(Port) kot tiow oto onueilo A €xetl pikog 10 YAl Metadopad anod
10 otabuo B oto napko(Park) kot to {wohoyikd kAmo(Zoo) kot miocw oto onpeio B £xel uAkog 12 xAp.
Metadopd amnd 1o otabud C oto AAvl KoL To ApKo Kal Tmiow oto onueio C €xel pnkog 13 YAW. Emiong
pLa petadopad anod to {woloyikd kAo oto ndpko(Park) kat to Atpdvi(Port) kot micw oto {woloyikd
KNMo(Zoo) €xel pnkog 15 YA Nooa xIAOpEeTpa elvat n o cUvtopn petadopd amnod to A oto B katto C
KoL Tilow oTo A;

A

Port

B Park

(A) 18 km (B) 20 km (C) 25 km (D) 35 Km (E) 50 km
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13. Rosa wants to start at the arrow, follow the line, and get out at the other arrow.
H P6la BéAeL va Eekvrioel amo to BEAOG, va akoAouBnoeL Tn ypauun kot va ByeL oto aAAo BEAog.
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Which piece is NOT possible to put in the middle with ? to obtain that?
Moto koppdtt AEN eival Suvato va tormoBetnOei otn péon otn Béon ? yla va to KatadEpeL;

(A)@ (B)%
(D) % (E)%/

(€)

14. The diagram shows three hexagons with numbers at their vertices, but some numbers are invisible.
The sum of the six numbers of each hexagon is 30. What is the number on the vertex marked with a
question mark?

To Slaypappa Selyvel Tpla e€dywva pe aplBoUc otig kopudEg Toug, aAAd peptkol aplBuot eivat
adpatol. To aBpolopa(sum) Twy €L aplBpwyv kabe eEaywvou eivat 30 (sum 30). Molog sivat o aplBudg
oTNV Kopudr Mou enLonuaivetal e To cUpBoAo ? ;

(A)3 (B) 4 ()5 (D)6 (E)7
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15. Three rectangles of the same height are positioned as shown. The numbers within the rectangles
indicate their areas in cm?. If AB = 6 cm, how long is CD?
Tpla opBoywvia tou iSlou UPoug TomoBeToUVTAL ONWE Ppaivetal. OL aplBuol evtog Twv opBoywviwv
umoSelkvlouy Ta epPadd toug cm?. Edv AB = 6 cm, tooo ivatl to CD;

G 2 D

—

12 18 22

A 6cm B

(A) 7 cm (B)7.5cm (C) 8 cm (D) 8.2cm (E) 8.5cm

16. With 10 identical balls we build a triangular pyramid, as shown. Each ball has one of the

letters A, B, C, D and E on it. There are 2 balls for each letter. The picture shows three side views of the
pyramid. What is the letter on the ball with the question mark ?

Me 10 (61eg UIAAEC XTI{OUHE HLa TPLYWVLKA TUpapida, onwe daivetal. KaBe pumdla £xel Eva anod ta
ypapuata A, B, C, D kal E og auto. Yrdpyxouv 2 umaAeg yia kabe ypaupa. H sikova Seiyvel

TPELG MAEUPLKEG OYELG TN Tupapidac. Molo elval To ypappa Tng Unaiag Pe to cUpBoAo ? ;

(A) A (B) B (C) C (D) D (E) E

17. Ronja had four white tokens and Wanja had four dark ones. Taking turns they were stacking

their tokens and created two piles. Which pair of piles could not be a result of their play ?

H Povtla ixe téoospa Asuk@ kouTtovia Kal n Foudvtla gixe téooepa okolpa. Maipvovtog oslpd n YL
HETA TNV GAAN TomoBeToUoav Ta KOUTovia Toug Kat Snutoupynoav Vo otoifeg. Molo {euyapt otolPwv
Sev pumopouloe va eival amotédeopa tou matyvisiol Toug;

— —

(A) (B) (€)

—

(D) (E)
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18. My little brother closed his 4-digit bike lock with digits from 0 to 9 and turned each digit in the same
direction equally far. Now it shows the combination 6348 as shown.

O pikpog adepddc pou kAeldwaoe to modnAato tou pe thv tetpadndLa KAedwvid modnAATou Tou e
Pnoio and 0 £we 9 kat yuploe kaBe Pndio otnv ibla katevBLvon e€icou pakpld.

Twpa deiyxvel Tov cuvduoopd 6348 omwe dpaivetal

Which of the following CANNOT be the right code of my brother's lock?
Moto amd ta mapakdatw AEN pmopel va eival 0 cwotog KwOLKOS TNG KAsLSapLdg tou adepdol pou;

A [T/
30[1[5| @ 1189(3( 0
R .

19. There were 20 apples and 20 pears in the box. Carl randomly took 20 fruits from this box, and Luca
took the other 20 fruits. Only one of the following sentences is surely true. Which one?

Yrunpxav 20 pAAa kat 20 axAadia oto kouti. O KapA mirjpe tuxaia 20 ppouta amd autod To KOUTL, KoL o
NouUkag tipe ta aAAa 20 ppouta. Movo pila and TG akoAouBeg mpotdoeLg eival olyoupa cwoth. Mowa ?
(A) Carl got at least one pear.

(B) Carl got as many apples as pears.

(C) Carl got as many apples as Luca.

(D) Carl got as many pears as Luca got apples.

(E) Carl got as many pears as Luca.

(A) O KapA mripe Touldyilotov €va axAdst.

(B) O KapA mrpe tooa pnAa 6oa kat to oaxAadia.
(C) O KapA mrpe tooa pnAa 6oa kat o Aoukag.
(D) O KapA mnpe to0a axhadia 6ca kat o Aovkac.
(E) O KapA mrpe tooa axAadia 6oa Kat o AoUKaAG.

20. There is a single train track between points X and Y. Yrtdpxet pia evioia olénpoSpopikr) Ypopr HeTaEl
TwvV onueiwv X kat Y.

X Y

A train company wants one train to leave from X and one train to leave from Y at the same time daily.
Moving with constant speed it takes 180 minutes for a train to make a trip from X to Y and 60 minutes from
Y to X. They want to build a double track <___~to avoid a crash. Where should the double track be?

Mua etalpeia Tpévwv BENeL €va Tpévo va pUyEL amo to onpeio X kat £va tpévo va dUyeL amo To onpeio Y
TV 6o wpa kaBnuepva. Npoxwpwvtag pe otabepn taxuTnta Xpetdlovral 180 Aemtd yla va KAVEL Eval
TPEVO £va TafidL amod to X oto Y kat 60 Aemtd amo 1o Y £wg 1o X. @€Aouv va XTioouv o SUmAn
oldnpoSpOULKN YPAUUN YLa va armodUyouv Tt cUyKpouon. Mol mpénel va ival n SutAn olénpodpouikn
YPOHUN;

(A) x Y
(B) x Y
(C) x Y
(D) x Y
(E) x v
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21. Ann, Bob, Carina, Dan and Ed are sitting at a round table. Ann is not next to Bob, Dan is next to Ed
and Bob is not next to Dan. Who are sitting next to Carina?

H Avva, o Mrtaumng, n Katepiva, o Ntévng kat o Eppikog kdBovtal og eva otpoyyuAo tpaméll. H Avva

Sev elval Simha otov Mntaprmn, o Ntévng eival Simha otov Eppiko kot o Mmaurnng dev eival dimha otov
Ntévn. Moot kadBovtal imAa otnv Katepiva;

(A) Ann and Bob (B) Bob and Dan (C) Dan and Ed

(D) Ed and Ann (E) it is not possible to find it

(A) Avva kot Mmaumnng (B) Mmaumng kot Ntévng (C) Ntévng kat Eppikog
(D) Eppikog katL Avva (E) dev eival Suvatov va Bpebet

22. Maurice asked the canteen chef for the recipe of his pancakes. Maurice has 6 eggs, 400g flour,
500mI milk and 200g butter. At most how many pancakes can he prepare using this recipe?

O MadpLog pwtnoe Tov oed TNG KAVTIvag yla Th cuvtayr] Twv tThyavitwy tou. O Mdplog €xeL 6 auyd, 400g
oAelpt, 500ml ydha kat 200g Boutupo. To MOAU TOOEG TNYAVITEC UMOPEL VA TIPOETOLUACEL
XPNOLLOTIOLWVTAC QUTAV TN GUVTOYH;

Ingredients for 100 pancakes

Juvtayn ywa 100 tnyaviteg

25 eqgs 41 milk 25 auyd 4 Lydha
5kg flour 1kg butter 5 Kg aAevpt 1 Kg Boutupo
(A) 6 (B)8 (C) 10 (D) 12 ()15

23. The picture shows three gears with a black gear tooth each.
H ewova Seixvel tpla ypavalla pe éva pavpo Sovrl.

Pox
(e o LW

»

Which picture shows the right position of the black teeth after the small gear has turned a full turn
clockwise?

Mola eikova Seixvel Tn cwotn B€on Twv Havpwy Sovtiwv adou To UKPO Ypavall yuplosl pio ARpn
otpodn deflooTtpoda;

.
.
.
.
.
.

(A) (B) (€) (D) (E)
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24. An apple and an orange weigh as much as a pear and a peach. An apple and a pear weigh less than
an orange and a peach, and a pear and an orange weigh less than an apple and a peach.

Which of the fruits is the heaviest?

‘Eva pnlo kat éva moptokaAt {uyilouv 600 £va oxAadt kat éva podakivo. Eva pAAo kot £va axAadt
{uyilouv Alyotepo amo €va mopToKAAL Kot £va podakivo, Kat éva axAdadtL kol évo moptokaAL {uyilouv
Alyotepo amod €va UnAo Kat £va poddkivo. Moto and ta ppouta sival to Bapltepo;

(A) apple (B) orange (C) peach (D) pear (E) impossible to determine
(A) uno (B) moptokdaAL (C) pobSakwvo (D) axAadt (E) adVvatov va Bpebetl

25. In a particular fraction the numerator and denominator are both positive. The numerator of this
fraction is increased by 40%. By what percentage should its denominator be decreased so that the new
fraction is double the original fraction?

J€ £VOL OUYKEKPLLEVO KAAOMO O aplOUNTAG KoL 0 TTopovo Lot G lvat Kat ol U0 Betikol. O aplOuntng
QUTOU Tou KAAoHATOG auéavetal Katd 40%. Me moLo TTOCOOTO TMPETIEL VA LELWOEL 0 TAPOVOUOOTIC TOU
£T0L WOTE TO VEO KAAoUO Vo lval SUTAAGLO Ao To apyLlko KAGoUQ;

(A) 10% (B) 20% (C)30%  (D)40%  (E)50%

26. Three pirates were asked how many coins and how many diamonds their friend Graybeard had.
Each of the three answered the truth about one of the questions but lied about the other.

Their answers are written on the piece of paper pictured. What is the total amount of coins

and diamonds Graybeard has?

Tpelg MelpaTECG pwTNONKaY MOoa voulopata kat moéoa Stopavtia ixe o gpidog Toug o Nwpyoc.

KaBévag amo toug Tpelg andvinoe aAndva ylo pio amod Tic epwthoelg alhd sime Pépata yla tnv GAAn.
OL amavtAoelg Toug YpAadovTal 0TO KOUUATL XapTi tou amelkoviletal. Moo eival To CUVOALKO TTOCO TWV
KEPUATWY Kol SLapavTLwy Tou €XEL 0 Mwpyog;

6 dnamonds
= 1 | Exel 8 képpata Kal 6 Stapavria

nds
mo 2 | ExeL7 képpata kal 4 Stapavria
3 | Exel 7 képuoata Kal 7 Stopdavtia

d _1|— He ﬁ_ﬂs a co_“'[s and

(A) 11 (B) 12 (C) 13 (D) 14 (E) 15
27. Each shelf holds a total of 64 decilitres of apple juice. The bottles have three different sizes: large,
medium and small. How many decilitres of apple juice does a medium bottle contain?

KaBe padt €xel cuvolika 64 S£kata Aitpou xupoU prAou. Ta pmoukaAla £xouv Tpia SladopeTikd
HEYEDN: peyala, peoaio Kol pkpa. Nooa dékata Altpou YUHOU UNAOU TIEPLEXEL €Va LECOLO UTTOUKAAL;

Qéé LN

cig MM B8
AAAA84 MAMA

(A) 3 (B) 6 (C) 8 (D) 10 (E) 14
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28. We have a cube and its side is 7cm long. On each of its 6 faces, we draw the two diagonals in red.
Then, we cut the cube into small cubes the sides of which are 1cm long. How many small cubes will have
at least one red line drawn on it?

‘Exoupe €vav KUBo Kot N TAEUPA TOU €XEL UAKOG 7 EKATOOTA. 2& KAOE Lo omd TI¢ 6 TAEUPEC Tou,
oxeblafoupe TI¢ U0 SLOYWVLEC HE KOKKLVO XPWHA. 3TN CUVEXELD, KO ape Tov KUBO o€ pLkpoUG KUBOUG
TWV omolwv oL TTAEUPEG £xouV KOG 1 ekatooTo. Mool pikpol KUPBoL Ba £xouv TOUAAXLOTOV [l KOKKLVN
VPO TIAVW TOUG;

(A) 54 (B) 62 (C) 70 (D) 78 (E) 86

29. There are trolls and elves, ten in total. Trolls always lie, elves always tell the truth. Ten tokens are
distributed with the numbers from 1 to 10, one token to each of them. When asked about the number
on their token, they all gave a number from 1 to 10, and the sum of numbers given is 36.

What is the least number of trolls among them?

Yrdpxouv yiyavteg kal EwTikd, €ko ouVoALKA. O yiyovteg tavta Aéve Pépata, to EWTIKa Aéve tavta
™V aAnBela. Aéka KApTeg Stavépovtal pe Touc aptBuolg and 1 éwg 10, pla kapta otov kabe éva. Otav
pwtNOnKav ylo Tov aplbuod otnv KAPTa Touc, 0AolL £dwoav évav aplBuo amo to 1 €wc to 10 Kal o
aBpolopa Twv aplBuwv mou 660nkav gival 36. Molog ivatl o PLKPOTEPOG OPLOUOC YIYAVTWY HETAED
AUTWVY;

(A)1 (B)3 (C) 4 (D)5 (E)7

30. There are rectangular cards divided into four equal cells with different shapes D,*,.,A drawn
in each cell. Cards can be placed side by side only if the same shapes appear in adjacent cells on their
common side. Nine cards are used to form a rectangle as shown in the figure.

Which of the following cards was definitely NOT used to form this rectangle?

YTapyxouv opBoywVLEC KAPTEG XWPLOUEVEG O€ TECOEPQ Loa KEALA e SladOopeTIKA oxOTO Dv*: oA
{wypadlopéva og kaBe keAl. OL kapTeG Umopouv va tonobetnBouv SimAa-SimAa pévo eav ta idla
oxnuata spdavilovrol o€ YEITOVIKA KEALA OTNV KOLVH TOu¢ TIAEUPA. EvvEa KAPTEG XpNOLUOTIOLOUVTAL yLa
va oxnuatioouv éva opBoywvio Omwc ¢paivetal oto oxnua. Mota amd TG MapaKATw KAPTEC Glyoupa
AEN ypnolpomolnbnke ylo va oXnUATLOTEL auTo To opBoywvio;

| A
* | O

ERE ol e X | O
(A)Le A (B) LA | x LAl e
O | =% O| e

(p)LA | e (E)Lx 14
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